Langenschnitt DRL

Teil 1

S8.7 - Stat. 1.230,00

DRL E

sudliche Randstrale

DRL E

Betriebsweg
(neu)

Freigefalle SW

Gelande

Vorlageschacht

D. 47,70
S. 38,77

SE. 40,17

SA. 39,13
T=28,93
47,79

S8.8 S8.9 S8.10

S8.7 - Bestand

DN2300

DN2000
47,78 Gelande

DN2000

DN2000

DSP 3

1,00

DN 2500

D. 51,82
S. 50,82

T

1,00

DN 2500

D. 48,32
S. 47,32

DSP 4
T

1,50

DN 2500
D. 47,75
S. 46,25

DSP 5
T

D. 48,50
S. 40,23
SA. 40,35
SE1. 40,35
SEZ2. 41,04

Gelande =
D. 48,50
S. 40,40
SA. 40,52
SE1. 40,52
SE2. 41,11

= 47,69

Gelande
D. 48,40
S. 40,50
SA1. 40,69
SA2. 43,07

D. 48,34
S. 42,80
SA. 42,95
SE1. 46,97
SE2. 42,95
T=5,54

PW Sad I

(Uberlaufleitung)
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Stat. 1.210,00 - Stat. 1.702,28

Langenschnitt DRL

Teil 2

DRL E

sudliche Randstrale

1,00

DN 2500

D. 54,52
S. 53,52

DSP 1
-

1,00

DN 2500
D. 53,97
S. 52,97

DSP 2
T
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